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image7.png
Given mZl +mZ2 = 90°,
mZ3 + ms4 = 90°

Prove mZl = mZ4
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Given: MB=MQ A
Prove: AB=AM +MQ '74.
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Given: PM = MS
RS bisects PQ

MQ

Prove: MS

R,
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Eis midpt of S
O'is midkpt of BY
YE= 8O

Prove: ES = OY
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Given mZl +mZ2 = 90°,
ms3 + mza

Prove mZl = mZ4
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Given 232 22

Prove 21 and £3 are supplementary.
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Given £l and £2 are supplementary.
Prove ZLl=/3
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Complete the flowchart proof. Then write a two-column proof.

£,
5
Given ZACB and ZACD are supplementary. 4
ZEGF and ZACD are supplementary. E
T ¢ B

Prove ZACB = ZEGF




